

$$a_n = \frac{1}{r} \in (1, 2, \dots)$$

$$a_n = \frac{1}{r} (r)^{n-1}$$

$$a_1 = \frac{1}{r} (r)^1 = 2 \text{ و } 2 \quad (1)$$

$$\frac{a_{1r}}{a_{1r}} = \frac{a q^{1r}}{a q^{1r}} = q^r \quad \left. \begin{matrix} \\ q=2 \end{matrix} \right\} = (r)^r = 16 \quad (2)$$

$$\pm \sqrt{a_n \times a_1} = \pm \sqrt{r \times 2 \times 2} = \pm 2r$$

$$\pm 32 \quad (3)$$

$$d_x = \frac{1}{r} (r)^{x-1} = 128 = 2^7 \Rightarrow (r)^{x-1} = \frac{2^7}{\frac{1}{r}} = 2^8 \Rightarrow x-1=8 \Rightarrow x=9 \quad (4)$$

$$d_\omega = 12$$

$$d_\lambda = 99$$

$$\frac{a_\lambda}{a_\omega} = \frac{a q^\lambda}{a q^\omega} = q^r = \frac{99}{12} = 8.25 \Rightarrow r = 2 \Rightarrow q = 2$$

$$a_{1r} = a q^r = a q^r q^r \Rightarrow 99 (r)^r = 2^8 \times 2^8$$

$$d_\lambda = 99$$

$$a_1 \times a_r \times a_r \times a_r \times a_r \times a_\omega = a^\omega q^{(1+r+r+r+r)} = a^\omega q^{1r} = \underbrace{(a q^r)}_{a_r}^\omega = r^r r^r = r^\omega \Rightarrow a_r = r$$

$$a_1 \times a_\omega = a^r q^r = \underbrace{(a q^r)}_{a_r=r}^r = r^r = 9$$

$$r^a \times r^b = (r^{\sqrt{r}})^r \Rightarrow r^{a+b} = r^r = r^\omega \Rightarrow a+b=\omega$$

$$\frac{\omega}{r} = \sqrt{r/\omega}$$

$$d_\mu = 1-x$$

$$a_v = x$$

$$d_{11} = x^{x+1}$$

$$d_\mu d_{11} = d_v^x \Rightarrow \frac{(1-x)(1+x)}{1-x^r} = x^r \quad \left. \begin{matrix} \\ 1-x^r = x^r \Rightarrow 2x^r = 1 \Rightarrow x^r = \frac{1}{2} \end{matrix} \right\} \Rightarrow x = \pm \sqrt{\frac{1}{2}}$$

۱

۲

۳

۴

۵

$$a_1 + a_r = r\lambda \rightarrow a + aq^r = a(1+q^r) = r\lambda$$

$$a_r + a_{r^2} = r^2 \rightarrow aq + q^2 = a(q+q^r) = r^2$$

$$\frac{a(1+q^r)}{a(q+q^r)} = \frac{r\lambda}{r^2} = \frac{r}{r} \Rightarrow \frac{1+q^r}{q+q^r} = 1 \Rightarrow 1+q^r = q+q^r \Rightarrow q = 1 \Rightarrow a = r\lambda \Rightarrow aq^r = r\lambda$$

6

$$a_1 + a_r + a_{r^2} = r^3$$

$$a_1 + a_r + a_{r^2} = r^3 = a^3 q^3 = r^3 \Rightarrow (aq)^3 = r^3 \Rightarrow aq = r \Rightarrow \frac{a}{q} = r$$

$$\left. \begin{array}{l} a_1 + r + a_{r^2} = r^3 \\ \Rightarrow a_1 + a_{r^2} = r^3 - r \\ a_1 r + a_{r^2} = r^3 \\ \Rightarrow a_1 = r^2 \end{array} \right\}$$

$$\left. \begin{array}{l} a_1 + a_r = r \\ a_1 \times a_{r^2} = r^3 \end{array} \right\} \rightarrow \begin{array}{l} a_1 = 1, a_r = r \rightarrow a_n = 1, r, r^2, \dots \\ a_1 = r, a_r = 1 \rightarrow a_n = r, r^2, r^3, \dots \end{array}$$

7

$$a_n = r, r^2, r^3, \dots$$

$$\Rightarrow a_n = r(r)^{n-1}$$

$$S_n = a \left(\frac{q^n - 1}{q - 1} \right) \Rightarrow S_n = r \left(\frac{r^n - 1}{r - 1} \right) = r \frac{r^n - 1}{r - 1} = \frac{r^{n+1} - r}{r - 1}$$

8

$$a \times a_r \times a_{r^2} \times \dots \times a_{r^{n-1}} = a \times aq \times aq^2 \times \dots \times aq^{n-1} = a^n \times q^{1+2+\dots+(n-1)} = a^n \times q^{\frac{n(n-1)}{2}} = r^n \times r^{\frac{n(n-1)}{2}} = r^{\frac{n(n+1)}{2}}$$

$$\Rightarrow (r^{\frac{n(n+1)}{2}})^{\frac{1}{n}} = r^{\frac{n+1}{2}}$$

$$a_n = a, a_r, a_{r^2}, \dots, a_{r^{n-1}} \rightarrow a, aq, aq^2, \dots, aq^{n-1}$$

$$a - aq, aq - aq^2, aq^2 - aq^3, \dots, aq^{n-1} - aq^n$$

$$\Rightarrow a(1-q) + aq(1-q) + aq^2(1-q) + \dots + aq^{n-1}(1-q)$$

9

$$\frac{aq(1-q)}{a(1-q)} = q \rightarrow \text{نسبة}$$

$$a_n = a, a_r, a_{r^2}, \dots, a_{r^{n-1}} \rightarrow a, aq, aq^2, \dots, aq^{n-1}$$

$$\Rightarrow a + aq + aq^2 + \dots + aq^{n-1}$$

$$\left[\begin{array}{l} ra(n-1)d \\ ra(n-1)d \\ ra(n-1)d \\ \vdots \\ ra(n-1)d \end{array} \right] \Rightarrow \frac{n}{r} \Rightarrow \frac{n}{r} (ra(n-1)d)$$

$$S_n = a + a_r + a_{r^2} + \dots + a_{r^{n-1}} = a + aq + aq^2 + \dots + aq^{n-1}$$

$$\Rightarrow a(1 + q + q^2 + \dots + q^{n-1}) \xrightarrow{\times q} a(q + q^2 + \dots + q^n)$$

$$(q + q^2 + \dots + q^n) - (1 + q + q^2 + \dots + q^{n-1}) = q^n - 1$$

$$q(1 + q + q^2 + \dots + q^{n-1}) - (1 + q + q^2 + \dots + q^{n-1}) = q^n - 1$$

$$\Rightarrow a \left(\frac{q^n - 1}{q - 1} \right)$$

10